oo Immooodond #11 20050 10 200

[ 00 D={(z,y,2)]|2*+y*+2°<9,y>0,2>0,00000000
I:///xyzda:dydzDDDDDDDDDDDDDDDDDDD

D
()00 DOOOOOO

(2) z =rsinfcosp, y =rsinfsing, z=rcosd 0000000 (z,y,2) — (r,0,p) 00
00000000 DOOO DOODOOOOOOOOD DOOOOO

(

(

B)
500000 22%2) gppnpoooo
a(r. 0, ¢)

4)0000 7100000

1] 0O S={(z,y,2)|[2?+y*+22<4a*>} 000 C = {(z,y,2)|2* +¢y* <a?} 00000
SNCO0O SODDDO0O00OO0 F=S-SNCO00 VOOOOODOOOOO0OOO
()OO FO2z>0,y>0,2>000000000000

(2)00 FO zy00000000O0D0DODODODO DOOOOO

(3)00 FODD VOoOoood



